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11. From the following, you are required to calculate the earnings of a worker for a
week under :

a) Straight piece rate system

b) Taylor's differential piece rate system

c) Halsey Premium Plan.

d) Rowan Premium Plan
Weekly working hours 48
Hourly wage rate (%) 30
Piece rate per unit () 12
Normal time allowed per piece12 minutes
Normal output per week 240 pieces
Actual output for the week 300 pieces

Differential piece rate 80% of piece rate, when output is below normal and
120% of piece rate when output above normal.
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Fourth Semester B.Com. Degree Examination, September 2020
COMMERCE
Paper 4.4 : Cost Accounting
(CBCS) (Fresh + Repeaters) (2015 - 16 & Onwards)

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written either in English or in Kannada.

SECTION - A/ Qy»n— @

1. Answer any five sub-questions, each question carries two marks. (5%2=10)
OIRYTRTTR VI ma’—@’{ﬁ@; SUS0R, T3 —’zﬁﬁ QTR 90BN,
a) Define Costing.

503 Jear oD WHS0D 53,85, V. =
Y LN 2, P .‘EE:‘MU[@. 3
b) What is Tender ? , e, 5
500" OTIERD ? T~

¢) What do you mean by bincard ? \C ¢,'W//
O TEE oTTERD ? e X%

d) What is Machine Hour Rate ?
0008, otdodd BT wotdesd ?

e) Name any four techniques of Inventory Control .
RO QODOZ LT OIRYTRTTS T, BOFNFR) FROR.

f) What is Memorandum Reconciliation Account ?
BOBRT,OBRT TROTR ST 008 ROTTERD ?

g) Define Labour turnover.
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Answer any three questions, each carries six marks.
IRRYTREIR Foedy TN w0303, B3 BT 6 es0srishd,

2. Briefly explain the objectives of Cost Accounting.
W3 SETRT NN BosTaA =62,
SRy @ A hD
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(3x6=18)

3. From the following information, calculate, EOQ and calculate number of orders

to be placed in a year.

a) Quarterly consumption of materials, 2000 units
b) Cost of placing one order Rs. 50

¢) Cost per unit Rs. 40

d) Storage and carrying cost 8% of inventory.

3 NS BRLEWT Q33 =36 MBI, TR BRFT
EROMRVRLIR) 2000T) ForBRI0, SR
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b) .00 es5e3 BITI WPORAYRT ede 3n. 50

C) T8 Pews dagdd WF . 40

d) om0 s st 3323, 8% TR e,

4. Calculate Total Factory Cost and Factory Cost per unit from the following

information:
Rs.

Number of units of raw materials consumed 10000 units
Cost of material consumed 1,00,000
Direct wages 50,000
Direct expenses 30,000
Factory O/Hs 1,20,000
Opening stock of work-in-progress (2000 units) 60,000

Closing stock of work-in-progress (3000 units)
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B3, BRI LFBIRT 0LeEFRY Road 10000 o3 nish
WFFOIRNT émwaﬁzgﬁ%ﬂ’ aﬁa'g’j 1,00,000
360 PO 50,000
Sed g, 30,000
Eanlerp) e, %, neo 1,20,000
FR2oDYTOT T8 S8oE THm (2000 CHRREFTED) 60,000
Csptlevelsovn] PTT ©080 R (3000 oRRET ) ?

5. Standard time allowed for a job is 15 hours, at the rate of ¥ 50 per hour,
actual time saved by worker is 3 hours. Calculate his earnings under Halsey
System and Rowan System.
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6. From the following information compute aﬂ@ehv:gmﬁaie of Machine No. 20
for the month of July. !,?bﬁi‘;—’%’i‘\{r‘\ X
Cost of machine ¥.32,000 D\ N

¢ = )4 .
':4\.14:_: Ve
[ ]

P

Estimated scrap value ¥ 2,000 e gl q;-‘
Effective working life 10000 hours &3 ’ O
Repairs for life o?‘ mach?ne . 2;00 A '?ﬁﬁ/ﬁ\\\/

Standing charges for the month of July ¥ 400

Power consumed by machine @ % 0.30 pu. T 600

The machine consumes 10 units of power per hour.
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SECTION - Clawen—2

Answer any three questions. Each answer carries 14 marks. (3x14=42)

CRTTHTTR TR BInen Lo, ¢ y03c 14 €90BTIED.
4 - Sone

7. PNK Engineering Company manufactured and sold 1000 machines in 2018.
Following are the particulars obtained :

Cost of Materials 80,000 Rent & Rates 10,000
Wages paid 1,20,000 Selling expenses 30,000
Factory expenes 50,000 General expenses 20,000
Salaries 60,000 Sales 4,00,000

The company plans 10 manufacture 1200 machines in 2018. You are required t0
submit a statement showing the price to eam a profit of 10% on selling price. The
following additional information is given to you.

a) Price of material will rise by 20% On previous year's price.

b) Wage will rise by 5%.

c) Factory expenses will rise in proportion 10 the combined cost of materials and
wages.

d) Selling expenses per unit will remain unchanged.

e) Other expenses will remain unaffected by rise in the output.

PNK £02R0300M S0TN0I0 2018 ©¢9 1000 ojao_é)ﬁeddaﬁmm IRoot TREI,

05730 Bbod 5 TINTCET.

TN 3%, 80000 marmsysd 10,000
BT 8RO 1,20,000 BRI ﬁ?éjﬁeﬁa 30,000
FETOF O aﬁaec;?,i 50,000 AR, Duddensy 20,000
Fe3IND 60,000 IR0 4,00,000

Jezn0san 2019 © 1200 00 ATIY, 303300RL0 (&235@_3253. Snoow el 0
363 10008 ©oyRTOR md@dsa a%awsg 30IR0A. éﬂd%db S&S0DR, T el
2RBRRNG.

a) TN LTI 200D DRE L0 20% DOFITINTIZT.

b) 3RON Be3m0 5 TR, $HEECIRNTIZT.

C) BETF 0D SR, TOTON, TN BROMY Wi, Se3030e08n 38,03 SOBIRNZT.

d) mpoeL SBR TS 03 R 3403 IRETH, OTPT.
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8. GB Ltd. uses copper wire as a raw material which is purchased from the

market. The following particulars are available in respect of the transactions
for January 2019.

Jan. 1 Opening balance 300 kg. at X 25 per kg.

Jan. 3 Purchased 500 kg. at X 26 per kg.

Jan. 4 Issued 220 kg.

Jan. 10 Issued 440 kg.

Jan. 20 Purchased 490 kg. at ¥ 23 per kg.

Jan. 25 Issued 300 kg. 0)
Jan. 27 Surplus 20 kg. returned to store out of quantity Issued on Jan. 4

There was a shortage of 25 kg. on Jan. 15.

Prepare Stores Ledger for these transactions under LIFO and FIFO methods.
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83 oeQ0n Besctos, FIFO &8y LIFO ajc%%ojoq o8N méoﬁoﬁaﬂ 303R0A.

9. From the following, prepare a Reconciliation Statement, calculate profits as
per Financial Accounts.

a) Net profit as per Costing records 1,72,400
b) Works overhead under recovered in costing 3,120
¢) Office overheads recovered in excess 1,700
d) Depreciation charges in financial records 11,000

O
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e) Interest received but not included in costing 8,000

f) Income tax provided in financial books 40,300
g) Bank interest credited in financial books 750
h) Store adjustment credited in financial books 475

i) Depreciation of stock charged in financial books 6,750

j) Depreciation recovered in costing 12;800

BSND WWONPOT BROTWET °'6:j amm, BEOTORD @a:sazéd GIxplef o:mjd&q
FOTRIEBOWD.

a) 53 Dear 03T, BET0E L0OTE TRz 1,72,400

b) &3 asarodamﬁﬂeﬁéd RITT Fosmor S daewdaiﬁ#dgi -

BRD WOTRD BRI 3,120

C) WEYE AR BN ST BTN TR BEOTIYHTD 1,700

d) ®eaBRd PTG, aﬁbwuﬁdm ResBY 11,000

e) dzgj QeF DR, STRDIFCA [eOROTRI W& 8,000

f) ZeemRo FFBe “*céf\n)e:aﬁdxj 523003 301 40,300

g) TR PRI, 9, €53 SRTIBRORTR 13,08 W& 750

h) @easord RS =» é@daai TR BROTEIT watle BRBTIYTO 475

i) TeeBoRO YT BROATIH AR BtdS Rse 6,750

j) ﬁz'g*: Stolaievern a’d &aodﬁ RIS BRTY 12,300

10. A Factory has three Production Departments and two Service Departments. Theg
overhead distribution summary shows the following :

Departments Amount (%)

>

6,300
7,400

=5 @i log)
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The Service Departmental expenses of X and Y are to be distributed on a
percentage basis as follows :

Particulars Production Departments | Service Departments
Service Departments A B c X Y
X 40% | 30% | 20% L 10%
Y 30% 30% 20% 20% -
Prepare a secondary overhead distribution summary under:
a) Repeated Distribution Method
b) Simultaneous Equation Method.
20T TSI FORE) TRTL NBTH 25D TN TR e JA a’bed ?3
£30m TO03 51 FINFeIT | »\wﬁ“ "‘ N
Qe () i I'“'k ¥
A 6,300 w,
B 7,400 -,g\-t/xg
C 2,800 S——
X 4,500
i 2,000
X &3y Y ez aensing aoaabrm*@{ BT ST 06 T2 FIB0E03 Bowdennd
Q=T NTET VURLINR Bee eradnish
Be [Uaadnsh A B c X Y
X 40% 30% 20% - 10%
Y 30% 30% 20% 20% -

3603 Soe28 B0 Beiahsi) 31 $UH0R HFOIATE IIROR.
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